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BEANRE SHSEE FEENMET R RHRSHI LR

£ b R - ARk B H 2 B * H =
BRI 38, 670, 744
IR REREMBIER 38, 670, 744
IR REREMBIER 38, 670, 744
BEEAGE 35,204, 160
IR REREMBIER 34,512, 960
1 BMIRRREREHERD EERME 24.00 35, 840 860, 160
A
2 IRKRERSEHIMESQ LT E (FEERRA]D 24.00 701, 100 16, 826, 400
A
3 IR REREMMERQ HEEEMNE (FTEEEE [BRRE]D 24.00 701, 100 16, 826, 400
A
EAR=Rcs 614, 400
4 3TEH 24.00 25, 600 614, 400
=
i - 76, 800
5 i - |E EFEE, PR, ERTTE 1.00 76, 800 76, 800
=
EEREE 3, 466, 584
EHALE 336, 528
6 EXRARE 1.00 336, 528 336, 528
=
EERERAEE 673, 056
1 BERERRE 1.00 673, 056 673, 056
=




BEANRE SHSEE FEENMET R RHRSHI LR

% L] R - RARSTiE BfL % 8 B ® # m =
EBREBEENE S UVEGRES 2, 400, 000
8 FEAEDEENSLUVEGES 1.00 2,400, 000 2,400, 000
=
EBRERE 57,000
9 EBHERE 1.00 57,000 57,000
=




iz SHSEE THEM TR RER SR LTS

% g R - KSR Bifr B 2 B i & B W =
BRI 35,204,160 + 3,466, 584 38,670, 744
BEEAGE 35,204, 160
BE#RE 3,466, 584
T DR 35,204,160 x 42.86% ( 30% = (1 — 30% ) ) 15, 088, 502
BRI 38,670, 744 + 15,088, 502 53, 759, 246
—REEES 53,759,246 x 53.85% ( 35% + (1 — 35%) ) — 8,599 28,940, 754
KBS 53,759, 246 + 28,940, 754 82,700, 000
HETREALE 82,700,000 x 10.00% 8,270, 000
EBEREN 82, 700,000 + 8,270, 000 90, 970, 000
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SHSEE TREBNMET KR EREHIES

&5 1
£ BT ARERSEEMERD TEHEME 1A&Y
2 b g - BIRTE BT o = B O %8 W = " =
TEEMNE HEhm (A)
A 0.70 51, 200. 00 35, 840
& Hi 1E%HED - 1.008 35, 840. 00 35, 840
&5 .2
£ BIKRERSEMEERQ ELEMfE (FTE®IRMD 1A&4Y
2 b g - BIRTE BT H = B O %8 W E " =
e e HEm (C)
= 1.00 701, 100. 00 701, 100
& Hi 1E%HED - 1.008 701, 100. 00 701, 100
5.3
& mIKRERSEHEERQ HUHME (TEHBER(EM]) 1A&4Y
2 b g - BIRTE BT H = B O %8 W E " =
B L E HEm (C)
= 1.00 701, 100. 00 701, 100
& Hi 1E%HED - 1.008 701, 100. 00 701, 100
Hz5:4
&% TAEE HEED)
2 b g - BIRTE BT #H = B Ol %8 W = " =
TEEMNE HEhm (A)
A 0.50 51, 200. 00 25, 600
& Hi 1YEZHEH - 1.00[E 25, 600. 00 25, 600
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SHSEETHEBNMET KRR EHEMES

F5 .5
£ HEE - mE EFH. DR EBETH 1LY
2 b g - BIRTE By = B O ® # " =
& FHF HEm (A)
A 0.50 51, 200. 00 25,600
o el B e (A)
A 0.50 51, 200. 00 25,600
EBTTH HEm (A)
A 0.50 51, 200. 00 25,600
& Hi 1YE%HeH - 1.00K 76, 800. 00 76, 800
ES .6
2% EHARE 1LY
2 b g - BIRTE By = B O ® # " =
EXERARE
= 1.00 336, 528. 00 336, 528
& Hi S .00 336, 528. 00 336, 528
&5 .1
&% EEHRERRE 1LY
2 b g - BIRTE By = B O ® # " =
BEREARE
= 1.00 673, 056. 00 673, 056
& Hi 1E%HeH - 1.00K 673, 056. 00 673, 056
5.8
£ EBABHEENS L VEGRESE 1LY
2 b g - BIRTE By = B Ol ® # " =
EEREDHEERB L NELRES
= 1.00 2,400, 000. 00 2, 400, 000
& Hi 1E%HeH - 1.00K 2,400, 000. 00 2, 400, 000
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SHSEE TREBNMET KR EREHIES

59
& XEFERERE IEED)
£ 5 L - BIRTiE BAf = B %5 = & &
EERRMRE
= 1.00 57,000. 00 57,000
& Hi 1YE%HeRH 1,00 57,000. 00 57, 000




